Unitl Real Numbers

Sr. o
w.| Questions A B C D
1 [T7is: integer rational number terational napural
'S e humberv’ nhumber
B | e i dls i natural S rational irrational
' numbers g numbers humbersv’
If n is not a perfect square, rational ) irrational
3 . natural number integer
then Vn is: number numberv’
tional irrational
4 |/5+5is: whole number integer it s i
humber humberv’
5 |Ferallee B.%=ziselled reflexive transitive symmetric trichotomy
propertyv’ number property property
Let a,b,c €R, then a > b
6 |and b >c = a > c is| trichotomy transitivev’ additive multiplicative
called ___ property:
3 3 5 2
7 | 2*x8% = 64thenx = E‘/ — z =
Let a,b,c €R, then a=b»b
8 |and b =a is called reflexive symmetricv’ transitive additive
property:
V75 + V27 = V102 93

9 5v3 8vV3v
qugﬁaﬂ PayyalbdCHS-Christin Dagka)

Solution of MCQs

1 | V7 isirrational since it cannot be written as S.
2 | mand e are famous examples of irrational numbers.
3 | Vnisirrational when n is not a perfect square.
4 | Rational + Irrational = Irrational = /5 + 5 is irrational.
5 | x = x forall real x is the reflexive property.
6 |a > bandb > c=a > cistransitive property.
25 xg* = 64
2X % (2% = 64
2% X 23% = 64
2x+3x — 26
7 = x+3x=6
4x =6
6
X = Z
3
X = E
8 |Ifa=b = b = ais called is symmetric property.
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V75 + V27 =2
V75 + V27 =v25-3 + V9-3

9 =5V3 + 3V3
=3+ 3)
=83

i (3+v5)(3-+5) = 3) — (v5)

=9 — 5 = 4 s rational number.

Muhammad Tayyab (GHS Christian Daska)
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